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1. Asingle unbiased coin is tossed. Find the probability of getting a head.
(i) 2 (i) > (iii) ! (iv) . (v) >
i) — (i) - i) — (iv) - V) -
3 6 2 5 4
2. Two unbiased coins are tossed simultaneously. Find the probability of getting exactly one head.
2 1

(i) 3 (i) : (iii) > (iv) = (v) <
4 5 6 3 2

3. Two unbiased coins are tossed simultaneously. Find the probability of getting at least one head.

(i) : (i) ; (iii) : (iv) . (v) 1
o i iy o v) o

4. Two unbiased coins are tossed simultaneously. Find the probability of getting at least two heads.

(i) > (ii) : (iii) 2 (iv) 0 (v)

i) - i) - i) - iv v
4 4 5

5. Two unbiased coins are tossed simultaneously. Find the probability of getting at most one head.
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6. Two unbiased coins are tossed simultaneously. Find the probability of getting no head.

(i) 2 (i) 0 (iii) ! (iv) 3 (v) :
oo i) o v) () o

7. Three unbiased coins are tossed simultaneously. Find the probability of getting exactly one head.

(i) > (ii) ! (iii) ! (iv) * (v) >
i) - i) i) - iv) — (v) -
8 2 4 9 8
8. Three unbiased coins are tossed simultaneously. Find the probability of getting at least one head.
8

(')—(")z('")E(')l()l
g g (i) o (v V) g

9. Three unbiased coins are tossed simultaneously. Find the probability of getting at least two heads.
1 5 3 4 2

(i) 5 (ii) 6 (iii) 4 (iv) s (v) 3

10. Three unbiased coins are tossed simultaneously. Find the probability of getting at most one head.

(i) ’ (i) > (iii) : (iv) 3 (V) :
3 6 5 4 2
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Three unbiased coins are tossed simultaneously. Find the probability of getting no head.

(i) ! (i) 0 (iii) ! (iv) : (v) 2
) g (i i) o (v o () g

Two unbiased dice are thrown simultaneously. Find the probability of getting a doublet.

(i) 2 (i) ! (iii) > (iv) 0 (v)
U U U V) g

Two unbiased dice are thrown simultaneously. Find the probability of getting 3 as the sum of the two numbers on

the dice.
(i) = (ii) 2 (iii) ! (iv) 0 (v) !
i i) - i) - iv V) -
18 19 9 18
A die is thrown twice. What is the probability that 3 will come up atleast once?

(i) > (i) 1 (iii) . (iv) L2 (v) 2
) 1g () 5 (i) 5 (V) oo (v) oo

A die is thrown twice. What is the probability that 2 will not come up either time?

(i) 2 (i) 2 (iii) 2 (iv) 20 (v) H
18 3 36 37 36

One card is drawn at random from a well shuffled deck of 52 cards.

a king?

() = () (i) S ) W) o
I13”13“'4'\/26\/52

One card is drawn at random from a well shuffled deck of 52 cards.

a black queen?

(M o G o i) S ) s W) o
I52 ||13|||4|V13V26

One card is drawn at random from a well shuffled deck of 52 cards.

a jack of hearts?

(i) - (i) 2 (iii) : (iv) > (v) :
)3 () S i) oo (iv) oo v

One card is drawn at random from a well shuffled deck of 52 cards.

'7' of diamonds?
1 3

M > ) = (i) (V) o )
I4“13|”52|V26v13

One card is drawn at random from a well shuffled deck of 52 cards.

'7' of black suit ?

(i) - (i) 2 (iii) > (iv) = (v) :
52 26 13 13

One card is drawn at random from a well shuffled deck of 52 cards.

a hearts?

(i) > (i) ! (iii) 2 (iv) ! (v)
e R U U e

What is the probability that the card drawn is

What is the probability that the card drawn is

What is the probability that the card drawn is

What is the probability that the card drawn is

What is the probability that the card drawn is

What is the probability that the card drawn is
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One card is drawn at random from a well shuffled deck of 52 cards. What is the probability that the card drawn is
a face card ?

(M > G o (i) 5 ) e W) o
I13“52 III4|v26V13

One card is drawn at random from a well shuffled deck of 52 cards. What is the probability that the card drawn is
either a black card or a jack?

(i) ! (i) > (iii) '1 (iv) '1 (v) '7
Vg oz M ooe W5 Va3

An unbiased die is thrown once. Find the probability of getting a prime number?

(i) : (i) : (iii) > (iv) 3 (v) 2
oS ) o (i) o v) (V) g

An unbiased die is thrown once. Find the probability of getting an even number?

(i) . (i) ° (iii) > (iv) 2 (v) !
5 6 4 3 2

An unbiased die is thrown once. Find the probability of getting a 27

(i) 2 (i) 0 (iii) ! (iv) - (v) °
7 6 3 6

An unbiased die is thrown once. Find the probability of getting a number greater than 5?

(i) > (i) 0 (iii) 2 (iv) : (v) :
6 7 3 6

An unbiased die is thrown once. Find the probability of getting a number less than 57

(i) 2 (i) 1 (iii) ! (iv) >
o5 i) 5 (v)

An unbiased die is thrown once. Find the probability of getting a number between 2 and 67

(i) . (i) 3 (iii) ! (iv) ° (v) 2
g ) (i) o v) o (V) g

A box contains 26 white balls, 10 blue balls, 8 red balls and 10 yellow balls. One ball is drawn at random from the
box. Find the probability that the ball drawn is white.
14 4 13

(i) > (ii) >7 (iii) 5 (iv) >7

A box contains 30 yellow balls, 42 orange balls, 33 gray balls and 24 pink balls. One ball is drawn at random from
the box. Find the probability that the ball drawn is not orange.
29 30 14 15 28

0 g3 0 3 (D g (V) o (V)3

A box contains 70 blue marbles, 25 gray marbles, 15 yellow marbles and 25 black marbles. One marble is drawn
at random from the box. Find the probability that the marble drawn is blue or black.
2 20 5 8 19

(i) 3 (ii) 7 (iii) ; (iv) 7 (v) 7
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A bag contains 9 orange balls, 42 white balls, 36 red balls and 30 black balls. One ball is drawn at random from
the bag. Find the probability that the ball drawn is neither orange nor white.

M 22 Gy 2 i Lov s v o
40 ! 39 . 39 W 39 Y 13

Which of the following experiments have equally likely outcomes?
a) A ball is hit. It reaches the boundary or not
b) A baby is born. It is a boy or girl

)

)
c) A man starts his vehicle. It starts or it does not starts
d) A true/false question is attempted. The answer is either right or wrong
)

e) A man throws a die. The number on the top is either 2 or not 2

(i) {b,d} (ii) {c,d,b} (i) {a,b} (iv) {ea,b} (v) {cd}

A box contains 20 discs which are numbered from 1 to 20. If one disc is drawn at random from the box, find the
probability that it bears a two-digit number.
11 4

(i) > (if) 2 (iii) : (iv) (v)
5 20 2 20 7

A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn at random from the box, find the
probability that it bears a perfect square number.
1 1

(i) (i) — (i) > (iv) 2 (v) O
U L L L\

99 cards are numbered 1,2,3,....99 and put in a box and mixed thoroughly. A card is drawn at random. What is
the probability that the number on the drawn card is an odd number?
49 50 51 17

0 99 () gg (D 755 (V) 55

55 cards are numbered 1,2,3,....55 and put in a box and mixed thoroughly. A card is drawn at random. What is
the probability that the number on the drawn card is less then 137
13 12 13 1 43

(i) o5 (i) 55 (iii) =6 (iv) 5 (v) =5
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